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English and Topic activities

Listen to ‘Toys in Space’ by Mini Grey.
There are several videos to choose from
on YouTube.

ldeas to complete

. Write a new story with the title 'Toys in Space', 'Animals in
Space' or 'Teachers in Space'.

. Create a new adventure for the toy characters in this story.

. When WonderDoll's story begins, a range of adjectives are
used to describe the toys (e.g. resourceful, brave, clever...).
Can you make a list of these and add your own adjectives?

. When the spaceship arrives, the author repeats the word
bigger. Why is this? Can you think of some synonyms for
the word 'bigger'?

. Add some speech / thought bubbles to the illustrations at
different points in the story.

. Write a story about the alien who lost its toy.

. Create a 'Lost’ poster to inform people about the missing
toy.

. Write a story about one of the toys in the 'Room of a
Thousand Lost Toys'.

. At one point in the story, the toys look up at the stars in
space. Can you find out about space / stars and use the
information to write a report?

. Canvyou find all of the nouns, verbs and adjectives in the
story?

- Write sentences with the conjunctions-and, or, but, so.







Can you cut out the pictures and create a
timeline?
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Research one of the significant people
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Lived.

Natisnakoy: |

Place of birth:

What big changes did they make in theis lifetme?

How did they make bots of people’s lives belter or wiorse?

How aie their ideqs still wsed today?

What did they do that rade them a very good o very bad role model?

Compare the journeys of 2 famous people
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Research significant people today




Significant people today

| (i,') Draw lines to match each significant person to their current and
-/ possible impact then complete the sentence.

rreta

4 ® People can travel to Mars.
Thunberg :

Malala . ¢ Children around the world
Yousafzai enjoy reading.

People around the world can
Elon Musk ¢ ®  use the World Wide Web
to find out information.

Both boys and girls around

JK Rowling the world can go to school.

All the countries in the
L ] ¢ world agree to try to stop
climate change.

Tim
Berners-Lez

will be the most significan:

person in the future because

Spelling rules




Alternative Spelling for ‘n': kn
Missing Letters and Missing Words

Fill in the missing letters to create words with the 'kn’ sound.

Fill in the missing letters to create words with the ‘kn' sound.

I reably hurt my when I banged it on the table,

Bo loves to do some after dinner when he's sat
by the fire.

"Do you know how Lo tie this 2"

¥You can cut those strawberries first, but be careful because
the is sharp.

The saved the day by rescuing the princess.

“Who's there?”




Alternative Spelling for ‘n': gn
Missing Letters and Missing Words

Fill in the missing letters to create words with the ‘gn’ sound.

o i \  si__ed
wh

.F,'-_LI" ¥

Fill in the missing letters to create words with the ‘gn’ sound.

I keep getting bitten by that annoying !

Everyone is going to a rew toy today and then
we're going to make them.

My mum the form so T could go on the school trip,

Bob the dog loves to on a juicy bone,

Jivon hos a new to add to her gorden.

"Fallow the Henry. Tt will take you down
to the beach.”




Can you practise reading and writing the

following words?

Word

w

Word

came

called

she

hiarve

I’.ﬂ_g

here

[
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equal groups
unequal groups }
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o Match the pictures to the labels.

T2
o
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o Complete the sentences.

There are

equal groups of

o Kim is drawing 5 equal groups of 6

Finish Kim’s drawing.




o Ron and Mo have some cherries.

Who has made equal groups?

How do you know? @

o Use objects in your classroom to make
these groups.

® 5 equal groups of 3
® 3 equal groups of 5
® 4 equal groups of 6

¢ 2 equal groups of 10

Talk about your answers. @

: Ruse
© White Rose Maths 2020




Add equal groups

o Complete the sentences.

There are

There are

There are

apples in each bag.

bags.

equal groups of

There are

apples altogether.




o How many sweets are there?

There are sweets.

o How many marbles are there?

There are marbles.




o How many candles are there?

There are candles.

e Use counters to show the equal groups.

Complete the number sentences.

a) 2+2+2+2-=

b) 5+5+5+5+5=

o There are 7 equal groups of 5 counters.

How many counters are there altogether?

There are counters altogether.

© White Rose Moths 2020




Recognising coins

o Match the coin to the amount.

20 pence

5 pence

10 pence

1 pound

1 pence

50 pence

2 pence

2 pounds




o Here are some coins.

Complete the sentences.

There are 1p coins.
There are 2p coins.
There is 5p coin.
There are 10p coins.
There are 20p coins.

o Write < or > to compare the amounts.




o Mo has one coin in his hand.

I have more than 2 pence,
but less than 1 pound.

Draw Mo’s coin. Z\é

(" N

What is the value of Mo’s coin? p

Is there more than one answer? @

© White Rose Maths 2020




Recognising notes

o Match the note to its value.

5 pounds

20 pounds

10 pounds

50 pounds

o Dan has two £10 notes and one £5 note.

Circle the notes that Dan has.
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o Here are some notes.

b = v
o Runfis| [FR=

- 5]
i 47
@ 4 [

Complete the sentences.

There are £5 notes.
There are £10 notes.
There are £20 notes.
There are £50 notes.

o Tick the note with the smaller value.
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o Write <, > or = to compare the amounts.

BTY il
") Eﬂ‘ 50 pounds

Do you agree with Kim?

Talk about your answer. @

© White Rose Maths 2020
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